Annex A

	WACC at Ke = 10% and Kd = 10%
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	 
	Company A
	Company B
	Company C
	Company D
	Company E
	Company F
	Company G
	Company H

	 
	 
	 
	 
	 
	 
	 
	 
	 

	Debt
	               -   
	    10,000 
	     20,000 
	      25,000 
	     50,000 
	     75,000 
	    80,000 
	 100,000 

	Equity
	   100,000 
	    90,000 
	     80,000 
	      75,000 
	     50,000 
	     25,000 
	    20,000 
	               - 

	Firm Value
	   100,000 
	  100,000 
	   100,000 
	   100,000 
	  100,000 
	   100,000 
	  100,000 
	 100,000 

	Cost of Equity 
	10%
	10%
	10%
	10%
	10%
	10%
	10%
	10%

	Cost of Debt 
	10%
	10%
	10%
	10%
	10%
	10%
	10%
	10%

	Dividend Payments
	     10,000 
	       9,000 
	        8,000 
	        7,500 
	       5,000 
	        2,500 
	      2,000 
	               - 

	Debt/Equity
	0
	0.11111
	0.25
	0.333333
	1
	3
	4
	#DIV/0!

	Debt/Capital
	0
	0.1
	0.2
	0.25
	0.5
	0.75
	0.8
	1

	WACC
	0.1
	0.1
	0.1
	0.1
	0.1
	0.1
	0.1
	0.1


	WACC at Ke = 10% and Kd = 8%
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	 
	Company A
	Company B
	Company C
	Company D
	Company E
	Company F
	Company G
	Company H

	 
	 
	 
	 
	 
	 
	 
	 
	 

	Debt
	               -   
	    10,000 
	     20,000 
	      25,000 
	     50,000 
	     75,000 
	    80,000 
	 100,000 

	Equity
	   100,000 
	    90,000 
	     80,000 
	      75,000 
	     50,000 
	     25,000 
	    20,000 
	               - 

	Firm Value
	   100,000 
	  100,000 
	   100,000 
	   100,000 
	  100,000 
	   100,000 
	  100,000 
	 100,000 

	Cost of Equity 
	10%
	10%
	10%
	10%
	10%
	10%
	10%
	10%

	Cost of Debt 
	8%
	8%
	8%
	8%
	8%
	8%
	8%
	8%

	Dividend Payments
	     10,000 
	       9,000 
	        8,000 
	        7,500 
	       5,000 
	        2,500 
	      2,000 
	               - 

	Debt/Equity
	0
	0.11111
	0.25
	0.333333
	1
	3
	4
	#DIV/0!

	Debt/Capital
	0
	0.1
	0.2
	0.25
	0.5
	0.75
	0.8
	1

	WACC
	0.1
	0.098
	0.096
	0.095
	0.09
	0.085
	0.084
	0.08


	WACC at Ke = 15% and Kd = 10%
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	 
	Company A
	Company B
	Company C
	Company D
	Company E
	Company F
	Company G
	Company H

	 
	 
	 
	 
	 
	 
	 
	 
	 

	Debt
	               -   
	    10,000 
	     20,000 
	      25,000 
	     50,000 
	     75,000 
	    80,000 
	 100,000 

	Equity
	   100,000 
	    90,000 
	     80,000 
	      75,000 
	     50,000 
	     25,000 
	    20,000 
	               - 

	Firm Value
	   100,000 
	  100,000 
	   100,000 
	   100,000 
	  100,000 
	   100,000 
	  100,000 
	 100,000 

	Cost of Equity 
	15%
	15%
	15%
	15%
	15%
	15%
	15%
	15%

	Cost of Debt 
	10%
	10%
	10%
	10%
	10%
	10%
	10%
	10%

	Dividend Payments
	     15,000 
	    13,500 
	     12,000 
	      11,250 
	       7,500 
	        3,750 
	      3,000 
	               - 

	Debt/Equity
	0
	0.11111
	0.25
	0.333333
	1
	3
	4
	#DIV/0!

	Debt/Capital
	0
	0.1
	0.2
	0.25
	0.5
	0.75
	0.8
	1

	WACC
	0.15
	0.1
	0.1125
	0.145
	0.125
	0.1375
	0.14
	0.1


Annex B

	Dividend Patterns and Valuation Model 
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	Company A
	Company B
	Company C
	Company D
	Company E 
	Company F
	Company G 
	Company H
	Company I

	Annual Net Cash Flow (Y)
	            100 
	           100 
	          100 
	          100 
	          100 
	          100 
	          100 
	          100 
	            100 

	Reinvestments (b)
	0%
	10%
	15%
	0%
	10%
	15%
	0%
	10%
	15%

	Reinvestment in £
	                - 
	             10 
	            15 
	               - 
	            10 
	            15 
	               - 
	            10 
	              15 

	Dividends paid out
	 £         100 
	 £          90 
	 £         85 
	 £       100 
	 £         90 
	 £         85 
	 £       100 
	 £         90 
	 £           85 

	Annual Rate of Return for Projects ( r)
	20%
	20%
	20%
	25%
	25%
	25%
	15%
	15%
	15%

	Cost of Equity (Ke)
	20%
	20%
	20%
	20%
	20%
	20%
	20%
	20%
	20%

	Market Value of Equity Capital (Ve)
	            500 
	           510 
	          515 
	          500 
	          527 
	          543 
	          500 
	          494 
	            490 

	Total Shareholder Wealth
	            600 
	           600 
	          600 
	          600 
	          617 
	          628 
	          600 
	          584 
	            575 

	
	
	
	
	
	
	
	
	
	

	Different values of b produce different dividend flow patterns
	
	
	
	

	Company A & B & C, r = K (Total Shareholder wealth remains the same as reinvestment b increases)

	Company C & D & E , r>K (Total Shareholder wealth increases as reinvestment b increases)
	

	Company E & F & G , r<K (Total Shareholder wealth decreases as reinvestment b increases)
	


	Company A 
	Before Dividend Payout
	After Dividend Payout
	Company decides to issue stock instead of a dividend

	Value of Firm £
	       9,000 
	       9,000 
	        9,000 

	Number of Shares 
	       9,000 
	    13,500 
	      13,500 

	Value of 1 Share £
	          1.00 
	         0.67 
	           0.67 

	Dividend Payout
	 
	       3,000 
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